

$g = \sqrt{x f(x)} \rightarrow x \cdot f(x) \geq 0 \rightarrow x \geq 0, f(x) > 0$

x	$-y$	0	y	a
$f(x)$	عكس	+	+	+
g	دائم	-	-	عكس

$D_f = [-a, 0] \cup [y, a]$

$g = \sqrt{-x} \rightarrow \frac{-x}{f(x)} \geq 0$

$0 < -x < a \leftarrow f(x) > 0$

x	$-y$	0	y	a
$f(x)$	عكس	+	-	عكس

$D_f = (-y, y) - \{0\}$

تلك المنطقة

$x = -y \rightarrow f(-y) - y f(y) = \epsilon + \gamma + \epsilon$

$f(-y) + \epsilon = 1 \epsilon \Rightarrow f(-y) = 1_0$

بواب آخر

$x = y \rightarrow f(y) - y f(y) = \epsilon - \gamma + \epsilon$

$-f(y) = -y \Rightarrow f(y) = -y$

$$f(f(x)) + f(f(y))$$

$$a - \sqrt{ax+b} = y \quad \sqrt{x+1+y} = a$$

$$f(y) + f(a) = 4+y = \boxed{9}$$

$$\sqrt{x+y} = y \quad \sqrt{a \cdot \sqrt{a+b} + b} = y$$

$$f(x-1) = a(x-1)^y - b(x-1) + y = 0$$

$$ax^y + a - yam - b2x + b + y$$

$$x^y + 1 - ym$$

$$f(x-1) - f(x) = ax^y + a - yam - b2x + b + y - a(x-1)^y - b(x-1) + y = 0$$

$$\Rightarrow a+b - yam \Rightarrow a+b - yam = ym + y$$

$$a+b = y$$

$$-yam = ym \Rightarrow a = -y$$

$$-y+b = y \Rightarrow b = 0 \quad \left\{ \begin{array}{l} a-b = -y-a = \boxed{-1} \end{array} \right.$$

$$f(x) = x^y + \epsilon x + \delta \Rightarrow f(\sqrt{x}-y) = (\sqrt{x}-y)^y + \epsilon(\sqrt{x}-y) + \delta$$

$$\frac{y + \epsilon - \delta\sqrt{x} + \epsilon\sqrt{x} - 1 + \delta}{x^y + \epsilon x + y} = \frac{(\sqrt{x}-y)^y + \epsilon(\sqrt{x}-y) + \delta}{x^y + \epsilon x + y}$$

$$\frac{y + \epsilon - \delta\sqrt{x} + \epsilon\sqrt{x} - 1 + \delta}{x^y + \epsilon x + y} = \frac{y-1+\delta}{x^y + \epsilon x + y} = \frac{\epsilon}{y}$$

$$f(x-1/x) = \frac{x^y + 1}{x^y} \Rightarrow \frac{x^y + 1}{x^y} = \frac{x^y}{x^y} + \frac{1}{x^y} = \frac{x^y + 1}{x^y}$$

$$x - \frac{1}{x} = -y \Rightarrow x^y - y + \frac{1}{x^y} = 9 \rightarrow x^y + \frac{1}{x^y} = 11$$

$$f(x-1/x) = x^y + \frac{1}{x^y} \quad \boxed{f(y) = 11}$$

شكلا = $x^y + \frac{1}{x^y}$! $f(x-1/x) = \sqrt{y} (x^y)$

الف) $D_g = 9 - x^2 \geq 0 \rightarrow 4 \leq x^2 \leq 9 \rightarrow -3 \leq x \leq 3 \rightarrow [3, 3]$

$D_f = \{x, 1, 0, \sqrt{x}\}$

$\frac{f}{g} = \left\{ \left(\frac{1}{9}, \frac{1}{9} \right), \left(1, \frac{1}{\sqrt{9}} \right), \left(2, \frac{0}{\sqrt{2}} \right), \left(3, \frac{0}{\sqrt{3}} \right) \right\} \Rightarrow$

$\left\{ \left(0, \frac{1}{\sqrt{0}} \right), \left(1, -\frac{1}{\sqrt{1}} \right), \left(2, 0 \right), \left(3, 0 \right) \right\}$

ب) \rightarrow $\frac{f}{g}$ \rightarrow $\frac{1}{\sqrt{x}}$

$\frac{g}{f} = \left\{ \left(0, \frac{\sqrt{0}}{0} \right), \left(1, \frac{\sqrt{1}}{-1} \right), \left(2, \frac{\sqrt{2}}{0} \right), \left(3, \frac{\sqrt{3}}{0} \right) \right\}$

$\Rightarrow \left\{ \left(0, \frac{0}{0} \right), \left(1, -\frac{1}{\sqrt{1}} \right) \right\}$

تصنيف نقطة

الف) $f(x) = \{ (2, 2), (3, 1), (-4, -5), (1, -1) \}$

ب) $f(x)_{x=1} = \{ (2, 2), (3, 5), (-5, 3), (1, -1) \}$

ج) $f^2(x)_{x=1} = \{ (2, 4), (3, 9), (-5, 13), (1, 1) \}$

د) $f(2x) = \{ (1, 1), (2, 4), \left(\frac{1}{2}, -\frac{5}{2} \right), (2, -2) \}$

الف) $f-g \Rightarrow D_f \cap D_g = D_{f-g} \rightarrow \{1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15\}$

$D_{f-g} = \{1, 2, 3\}$

$f-g = \{ (2, 2), (2, 2), (1, 1) \}$

ب) $\frac{f}{g} = \{ (1, \frac{1}{1}), (2, \frac{2}{2}), (3, \frac{3}{3}) \} = \frac{f}{g} = \{ (2, 2), (3, 3) \}$